-.'- Heper Lighting

Uygurlar Cd. No:1, 06935 &
Organize Sanayi
Bolgesi/Sincan/Ankara
Turkey

Tel: +90 312 267 54 30
Fax : +90 312 267 54 31
info@hepergroup.com
www.heperlighting.com

TRIAN

Installation&Maintenance Instructions
Montaj&Bakim Kilavuzu

REV 0/21.01.2021

b v 4
INNTNDA
NN TN

VT
1
ANKRAJ
A B Cc D
Mm/ Inch Mm/ Inch Mm/ Inch Mm/ Inch ?A’\r‘rimgﬁ
400 MIN 30 200 92 M8x200 B
15 % MIN 1 346 778 3% MO %16 X 7 "8 / - ;‘ﬂ\\.\
1 / \
2 [ -1
4 . .
4 0 |° | o=
\q "T\ ~‘ 7 \ /
f \;// /
|
q [
| 4xM6 Setscrew 7 7
4 < . .
A A
2 ©ss
" 3Nm
( —~—
i
2
i
|
I l 2XM5 Head Bolt
LR
4xM8 Nuts
4xM8 Washers
. ()s13 3 @ 3
~~  25Nm —— T Nm




Tiirkce
MONTAJ TALIMATLARI
Urliniiniin zemine montajini yapmak icin;
1. Urlinin montaj yapilacagi zemin diiz olmahdir.
2. Verilen beton odlgulerine gére zemindeki bosluk ayarlanir.
= 2.1. Uriiniin baglanti deliklerini hizalamak igin, ankraj plakasi gérseldeki gibi kullanilir.
% T e | 2.2. Ankraj saplamasi, beton igerisine zeminden minimum 30 mm yukarida olacak sekilde
7 = sabitlenir.
3. Ankraj plakasi, betondan ¢ikan saplamalara pullar ve somunlar yardimiyla 25 Nm tork ile
montajlanir. ( 4 Adet, M8 Pul ve 4 Adet, M8 Somun ).
e 4. Bolardin zemine montaji;
T, % 4.1. Zeminden gelen kablo ile Girinden gikan kabloyu birlestiren soket birbirine takilir.
2xM3 Prﬁﬂiﬁs’ﬁ;ad Screws Not 1: Kablolarin birbirine baglanmasina yarayan soket trin ile birlikte gelmemektedir.
Latfen Grane uygun, minimum IP66 sertifikali soket tedarik edininiz.
Not 2: Urlini sékmek gerektiginde soketin birbirinden ayrildiindan emin olunuz.
4.2. Bolard ok yoniinde ankraj flans plakasi lzerine oturtulur.
5. Bolard yanlardan setskur civata yardimiyla 3 Nm tork sikma kuvvetiyle sabitlenir. ( 4 Adet,
M6 Setskur Civata ).
LED surucuye ulagmak igin;
== 1@ 10 Not: Bu isleme baslamadan 6nce iriine gelen elektrik baglantisi kesilmelidir.
= 6.  Ust kapak civatalan sokulir ve Ust kapak gikartilir. (2 Adet, M5 Imbus Civata ).
NOT: Uriiniin siirGcusi degistirildikten sonra Ust kapak M5 Imbus civatalari 4 Nm tork ile
sikilir.(2 Adet, M5 Inbus Civata)
7. Handra modul ve buat kutusu kablo baglanti soketleri gikartilir.
8. Buat kutusunun g¢ikariimasi;
8.1. Buat kutusu sacini tutan yildiz silindirik basl civatalar sokulir. ( 2 Adet, M5 yildiz silindirik
Civata ).
2. Not: LED suricu degisimi tamamlandiktan sonra yildiz silindirik bash civatalar yerlerine 1.5
Nm tork ile sikilir. ( 2 Adet, M5 yildiz silindirik bash civata)
8.2. Buat Kutusu bolardin igerisinden ¢ikartilir.
9. LED surucuyt buat kutusundan gikarmak igin;
9.1. Buat kutusu tizerindeki bombe basli civatalar sokilir. ( 4 Adet, M4 Bombe Basli Civata ).
Not: LED suricu degistirme islemi tamamlandiktan sonra buat kutusunun M4 Bombe Basl
\ Civatalari 2 Nm tork ile sikilir.( 4 Adet, M4 Bombe Basli Civata)
\ 9.2. Buat kutusu kapagi yerinden ¢ikartilir.
10. LED surucuyu tutan yildiz silindirik bagl civatalar sékulir. LED suricusu yerinden gikarilir.
Not: LED suricinun hasar almamasina dikkat edilmelidir.
Aydinlatma modulini s6kmek igin;
2xM5 Phillips Head Screws 11. Handra moduli s6kmek igin;
11.1.Handra modiili tutan civatalar sokdlir. ( 2 Adet, M4 Havsa Bagli Givenlikli Torx Civata ).
Not: Handra modul degistirme islemi tamamlandiktan sonra torks anahtariyla 2 Nm torkla
sikilir.(2 adet, Havsa Basli Torks Givenlik Civatasl.)
11.2.Handra modilu yerinden gikartihr.
11.3.Handra modiiliinden ¢ikan kablo ile LED suriiciiden kabloyu birlestiren soket sokulur.
@ 2xM4 Countersunk Torx Security Bolt Not1: Handra modulin hasar almamasina dikkat edilir.
— Not2: Ikinci modiilii sékmek icin de 11. adimdaki islemler uygulanir.
= > — STX20 1 ¢ s ya
=om 2Nm
o]
4xM4 Round Head Bolt
A B c &%‘lgﬂﬁ ARMATUR KODU
(mm/Inch) (mm/Inch) (mm/Inch) k LUMINAIRE CODE
(kg/Lb)
S2.5 910 mm 200 mm 807 mm 853 kg
| © 3553/16" 77/8" 3149/64" 1813/161b | LB6020.546
= 2 Nm




ASSEMBLY INSTRUCTIONS

Luminaire installation onto the ground;

The surface which the luminaire will be mounted must be flat and level.
The space on the floor is created according to the given concrete dimensions.

1. The anchor plate is used as shown in the image to align the connection holes of the
product.

2.2. The anchor bolt is fixed in the concrete at a minimum of 30 mm above the ground.

The anchor plate is mounted to the studs coming out of the concrete with the help of
washers and nuts with 25 Nm torque. (4 Pieces, M8 Washers and 4 Pieces, M8 Nuts).
4.  Assembly of Bollard;
4.1. The socket that connects the cable coming from the floor and the cable coming from the
product is attached to each other.
Note 1: The socket used to connect the cables is not supplied with the product. Please
supply a socket with minimum IP66 certification suitable for the product.
Note 2: When you need to disassemble the product, please make sure that the socket
is disconnected from each other.

4.2. The bollard is placed on the anchor flange plate in the direction of the arrow.

5. Bollard is fixed from the sides with the help of setscrew bolts with 3 Nm torque.
(4 Pieces, M6 Setskur Bolt).

NN =

Accesing LED Driver;

Note: Before starting this process, the electrical connection to the product
must be disconnected.

6. Top cover bolts are removed and the top cover is taken off. (2 Pieces, M5 Imbus Bolt).
Note: After the driver of the product is changed, M5 Imbus bolts on the upper cover are
mounted with 4 Nm torque. (2 pieces, M5 Inbus Bolts)

7. Handra module and junction box cable connection sockets are removed.

8. Removal of Junction Box;

8.1. The Phillips head bolts holding the junction box sheet are removed.

(2 pieces, M5 phillips head bolts).

Note: After the LED driver replacement is completed, the Phillips head bolts are mounted
with a torque of 1.5 Nm. (2 pieces, M5 Phillips head bolts)

8.2. Junction Box is taken out from inside the bolard.

9. To remove the LED driver from the junction box;

9.1. Curved bolts on the junction box are removed. (4 Pieces, M4 Round Head Bolt)
Note: After the LED driver replacement is completed, the M4 Round Head Bolts of the
junction box are mounted with a torque of 2 Nm. (4 pieces, M4 Round Head Bolts)

9.2. Junction box cover is taken off.

10. The star cylindrical head bolts holding the LED driver are removed.
The LED driver is taken off.

Note: Please be carefull not to damage the LED driver in the process.

Replacing the lighting module;

11. To replace Handra Module;

11.1.The bolts holding the Handra module are removed. (2 Pieces, M4 Countersunk Head
Safety Torx Bolt).
Note: After the Handra module replacement is completed, it is mounted with a torque of
2 Nm with a torque wrench. (2 countersunk Torx Security Bolts.)

11.2.The Handra module is removed from it's place.

11.3.The cable coming out of the Handra module and the socket connecting the cable from
the LED driver is removed.

Note1: Please be carefull not to damage the Handra module.
Note2: In order to remove the second module, the procedures in
step 11 are applied.

* GOZ SAGLIGI UYARISI
Trian armaturl IEC/EN 62471. fotobiyolofik guvenlik

standartlarinca "muaf grup" olarak siniflandinlmistir. Operatorler
ve

son kullanici i¢in herhangi bir risk tasimamaktadir.

2

* EYE SAFETY WARNING

Trian luminaire is classified under “EXEMPT GROUP”
according

to photobiological safety standard IEC/EN 62471. NO RISK for
the

operators and end-users.
A@

CLASS |

ﬁ\n
Cable Details

67 mm
<25 mm

PG11: 5+10mm
PG13,5: 6+12mm(for DALI

=2.5mmq

’A
>
A

¢
CLASS Il C m
\t D

A






